MAL. SAaBATUCh (oae Vo (496)

17P/221/17 925
SetNo: 1 ‘ Q_uestinn_ﬂouhlet i |1 Ao an e
— (1o be Hilled up by the candidate by blue/black ball-point pen)
Roll No. '
o R )Y > MR A
Setial No. 0f OMR ATSWEE SHOSR .rcvcrsivrsser SR )
L R '(Signature of Irvigilator )

“INSTRUCTIONS TO CANDIDATES |

(Use only blue/Black ball-point pen in the space above and on both sides of the Answer Sheet

)

z,

3.

. On the fromi page of the Answer Shiéel, write by pean Jour Boll Number in the spuce
aur Roll .

Within 30 minutes of the issue of the Question Bookiet, check tho Question Bookiet to ensure that it
contains afl the pages in correct sequence and that no ‘question is missing. In case of
Question Booklet bring it to the notice of the Superinten vigilators immediately to obtain a
Question Booklet. |

Do not bring any loose paper, written or blank, inside the Examination Hall except tlee Admif Card
without b‘.l;g.lnp&.

i&mﬁeﬂm&hﬂk‘gﬁmﬂ shogld not be or mutitated. A second Answer Sheet
niot be provided. Only the Answer Sheet will be evalwated.

Write your Roll Number and Serial Number of the Answer Sheet by pen in the space

provided at the top, and by darkening the circles at the :
write the Question Booklet Number and the Set Number in appropriate places.

No overwriting is alléwed in the entries of Roll No., Question Booklet No. and Set No. (if any)
an OMR sheet and also Roll No. and OMR shest No. ol ¥ Gostion Rocklet.

Any change in the aforesaid entries is to be verified by the invigilator, otherwise it will be
taken as unfliir means, :

Each question in this Booklet is followed by four altern a;i".re answers, For eueh guestion, you
are fo record the correct option on the Arswer Sheet by darkening the approptiate circle in

the corresponding -row of tho Answer. Shees
given nn!hefmmenfﬁzdmm@' PO P as _WMmmagwm

For each question, darken only one circle on the Answer Sheer.llf darken more an one ci
or darken a circle MMﬂh.mﬂM st e giely

10. Note that the answer once filled in ink cannot be changed [f you do nﬂtwiﬁh!ﬁﬂtmnpt aquestion

]]I

loavo all the sircles in the corgenonding row blank (such question will be awarded zero mark),

o et

For rough work, use the inner.back page of the tilé ¢over and the blﬁnkmmmm

12. Deposit oniy the OME Ag at the end of the Test,
13, You are not permitted to leave the Examinatig i the cn 0F the Tegt,
4.

If a candidats sttempts to use amy ANTTGT Unfale m :
the University may determitié-and i g, hefsbo shall be Lsble o $uch punishment a5

+ ader ol e 3 el veen-g8 A G

Total No. of Prinied Pages ; 56 5 5



ROUGH WORK
W &Y



Mac . Sadisdtecs Code M@Q

oM 17P/221/17 (1)
=

No. of Questions/sreat @i wear : 120

Time:2 Hows] [Fill Marks : 360
T ; 29%2) [gota ; 360

Note : (i) muquummmwmwksSﬂhm)
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rﬁvmm%ﬂ?wahWMImmmm
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)] lfmuremmmaltunaﬁwmwmmtobeappmxhnmtothe
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;ﬁmﬁmﬁmmm'm#ﬁmmﬁ,ﬁmwm
I .

Which of following data is non-frequency data ?

(1) Distribution of 1.Q. of children of age 10 years

(2) Income distribution data

(3) Time series date

(4) Votes obtained by different candidates in an election
Rt 3 & v o S o-omafr e 4 ¢

(1) b=, = o 10 9d ) oy & v

(2) TP ¥

(3) W e 3

(4) o g ¥ Rofter Snfiganll Ry Wt e
mwfmwmmmu, P

()Subtide  ()Subs  (3) Hoadnotes  (4) Capti

e v & T i) % wa o oo d
(NS O CTTARE  (4) ey
(1)
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3. Infrequency distribution with open-end class interval in the last, the apprﬁpﬁﬁte
measure of cenfral tendency is :

(1) Mean (2) Geometric mean
(3) Median (4) Harmonic iean

%ﬁiﬁ AT FT A F T AR R #, I9E FAE SR 9 S

(1) wen | (2) Wi wea
(3) sfea (4) IR HE

4, To represent the percentage break-up of a data, the more appropriate diagram
is :

(1) Bar diagram (2) Multiple bar diagram
(3) Pic diagram (4) Pictogram
et o1 % e 35 - o R 0 % e, ot e st 2
(1) &M i (2) Tl &R i
(3) T @ (4) frwRmm

5, With the help of ogive, one can determine : |
(1) Mean (2) Median
(3) Mode (4) Standard deviation
mﬁmﬁ,ﬁ%mﬁmt:
mm s
(3) e (4) s ferem

(2) (Continued)
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A car covered the first 5 km at a speed 30 km/hr and next 15 km at a speed of
45 km/hr, The average speed of caris :

(1) 35 kmvbr | (2) 40 km/hr
(3) 45 km/hr (4) 42 km/hr
& FR 3:}&5:&@@&:*&:;@5@%5@ R I 4sﬁwnmmna 15fm

w o man | wRH
(1) 35 fht fegn (2) 40 fissft /e
(3)4sfedijim - (4) 42 Rl d

The average age of 50 students in-a bus is 20 years, When the age of conductor
13 included the average age is increased by one year. The age of conductor is :

(1)Slyears  (2)60 yeurs Q) TIveale  (4) 2 years

mimﬁﬁmm%mhmﬁmmmtaﬂw e
fyy et SR ot T

(msiaf - (@ oow- @) 7=, (&) 219
del, m o™
- @)= #) ==

Irmmn of a series is 10 and coefficient nf vatiation 1§ M‘ﬁum of

qﬁﬁm‘rmmwmmﬂmmwmm%, B Y 1 R 2

{4 . A2)B. (3) 12 _ (4) 16

g;%:mmm fnll istmc

Wa<3 @ ~@DB=3
- (3)

(ﬁlﬂl Gver]
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11.

12,

13.

14,

Classical probability is measured in terms of :
(1) an absolute value (2)amtio

(3) absolute value and ratio both (4) None of the above.
uRfes e fi & geed o ord) I 2

(1) & i W (2) @ W
(3) T WW qEr AT (4) Tt 7§ rf Tt |
If 4 and B are two events, the probability of occurrence of either A or Bis given
R AT B3 R § R AT B wRT Y DR
(1) P)+ P(B) @) P(4UB)

(3) P(4NB) : (4) P(A) P(B)
The definition of statistical probability was originally given by :
(1) DeMoivre  (2) Laplace (3) Von-Mises  (4) Pascal
i mhrw € v : P % z 4w -

m@Fm  @Qmem  @)whbiw (4w
IfBcA,the pruba.i)ility P(A/B)is equalto:

(1) zero ) (2) one

(3) P(AYP(B) (4) P(BYP(A)

& B A D R P(A/B) e & TR :

()T G

(3) PAYPD) Rias

(Continued)

(4)
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If A is an event, the conditional probability of 4 given A is equal to ;

(1) zero (2) one |

(3) infinite | (4) indeterminate quantity
ﬁdnmtﬁdmiwwt.ﬁmm&a%mt:
(1w O |
(3) v (4) s mo

Usnd ¥ are Integer valued uniform random varisbles, 1f X= U+ v

W01, om} (O, m,..., i} and {0, 1,..., (n+ Tym).

@) 0,1, e, m), (O, ... (1 Ly} and {0, 1, ., pm).

G) (0. 13,30, m, . o) 680, 1, oy 1.
D01y m—1}, {0, m, ., (0 = Den} and (0,1, ., w13,

U#ﬁrmqﬁmm“{]“ﬂgl?ﬁl=u+rﬁm :
m!ﬁ-ﬂ*mm-mmﬂ%w“ﬂ St TE 9 qe

(1) 0,1, .. m}, {0, P M} OOy ;s e Sy R |
@40 L, m}, {0, m, ... (r— Limpadk (0,1, nm) 9 wEm e |
30,1,y m—13, {0, m, ... i) {0, 1,..., nm m}mt |
(10,1 =13, (0 (1 Do Sy,

(3
) (Trn Over)
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17. X, Uand ¥ are independent random variables. I/ has Bernoulli distribution such
that (U= =pand A(U=1)=1-p; 0 <p < 1. ¥ has exponential distribu-
tion with mean 8, Let ¥=pX+ UP.1f X and ¥ are identically distributed.
Assertion (A)  The correlation coefficient between Xand ¥ is plus one.
Reason (R) : The regression of Y on X is linear.

Choose your answer from the following codes :

(1) Both Aand R is true and R is correct explanation of A.

" (2) Both Aand R s trug but R is not correct explanation of A.
(3) Aistrue but R is false,
(4) A is falsebut R is true.

x, Ush re@ wRss T | {78 YR &ieh de vwan & B P(U=0)=p
s PU=1)=1-p0<p<ll yumen © wren W wed & | W A

y=pX+ UV \9R X3 &G GRIARE

T (A) : XX Y% Heq qREET S W s R
F (R) : Yo Yo qmn Y R |

(!}Aaﬂtnﬂﬁiaﬂﬁsﬂmﬁmkm

(zmamaaﬁ%aﬁw@ma@mmkwt.
(3) AR R TGRIEE R

gmm%mﬂn@t%m

(6) {Continued)
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18. Which of the following can be cumulative distribution function of some
random variable ?

0, ifx<3
SI:F(I)={1, ifx>3

0, ifx<0
52:F(x}={klog, if 0 < x <3 and k is non-zero constant
1, ifxe3

Choose your answer from the following codes :
(1) Only 81 (2) Only 82

(3) Both 81 and 52 (4) Neither S1 nor 82

 Reafipe 32 Rl TRl il WA TR 7

81: F (x) =[f:E:::
g, Mx <o
82:F (x)={klogx, a0 x <3 AR & i s &
1, Mx 23 |

e IR PR 14 4w ;
(%St (2) ¥ 52
(3) 81 3k S2:35}. OELRER )

(7)
(Mﬁvg)
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19, Iff(x) and f,{(x) are two probability density functions and 9, and B, are any Iwo
real numbers, then gx) = 8, £(x) + 0, f,(x) will be always probability density
function of some random variable :

(1) Forall values of 6, and 9,.
(2) For those values of 6, and 6, for which 8, + 0,=1.
(3) For all positive values of 6, and 8,.

(4) For only those positive values of©, and @, for which 6, +8,= 1.

TR f(x) aﬂtﬂmmﬁmmﬁmtaﬁte,mﬂzﬁiﬁmmat,ﬁ
g(x) =8, f(x) +8,£,(x):

(1) 0, 3k 8, % Wit 7w 3 R
(Z)B,H‘kﬂii‘iﬁmﬂ%ﬁﬁmmaﬁﬁfl
{3}e,maﬁammmﬁ%m

(4) 0, 3k 6, % ¥ 3 v T 3 frg s o 0, +6,= 1

wwwqmw e SRR T |

(8) : (Continued)y
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20. Which of the following function js/are bivariate cumulative distribution func-
tion ?

F(x,y)= |—e™*
2

0, ifx+y<0
G sy} = '
(%) {1, ifx+y20

{1-—:‘1’ ifx>0andy2]

ifx>0end0<y<]

Choose your answer from the following codes :

(1) OnlyF €2) Only G

(3) Both F and G (4) Neither F nor G

Feaferfan & & 9 Rt gt szt oom 478 2

L

Fix,y)=41_,+
{ } ..]—;;-ﬁxn-ﬂﬁl:ﬂ-:yﬁl

0,49 z+y<0
G[-T,;Plg-{t s y20

ll-e"' LILE SR "N

(1) ¥ F Q=G

(3) F ¥k G 3t 4) T REIRG -
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21. The joint probability density function of (X, ¥)is

x+y,if0sxys]
f(x,y)={0 p !y

Then P(2X S1|X +Y S1) will be

(1) 11/48
{2) 173
(3) LI/16

(4) None of the above.

(X,Y)Hﬂgmws&mmﬁm

x+y,q% 0<x,y$1
f(xy)= o, HT

@ P(2X sA|X+Y <1) g

(1) 11/48

(2y 143

(3) 1116

(4) 3 ¥ GEHELE

(10) (Continued}
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22, If X and Y are independent uniform random variable over (0, 1), the joint
probability density function of U=X+ Yand V=X—-Ywillbe :

(1) fluv)={1,if ~-vSus2+vand —1<v<0

I, fvsug2-vand 0<v<l
G, elsewhere

12, ifvsu<2-vand O<v<l
2) Su,v)=412,if =vSug2+vand -1<y<0
10, elsewhere

(3) fluv)=41,ifu-2<svs2+uondl<u<2

1,if ~-usvsuandi<u<l
o, elspwhere

12,1f - uSvSuandﬂ-:u-:l
(4) f(u, }— 12 1fu—2$v$2+umﬂ]-cu42

(1) :
(Pt Oyer)
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AR XA Y (0, 1) T ey agRes w E, U=X+ Yt y=x_ yaa
MWWM: o

1, 3R v<ug2-v 3K 0<v<l
(1) fuv)=41,qR-v<u<2+v A -1<v<0
0, A

12, 7R vsus2-v @R D<v<l
(2) fluvy={12, R -v2ug2sv A -t<v<0

0, ILE |

l,ﬂﬁ—uivﬁu afh ﬂcr.;.-r:l
(3) flwv)= 1, IR u-25v€24u M 1eu<2
Q, U

112, 4R —u<vsy AR O<u<l
(4) fluy)=312, W u-23v24u o 1<u<2
0, 9

(12) (Continued)
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23. The joint CDF of a pair of random variables X= (X, Y)is given by

[0 x<0,y<D

¥ lzx20l1zy20
Fey(vp)=3x 12x20,y>1

y x>Llzy20

1 xzLy2l

The probability that Max (X, 7)< 0.6 is closest to :
(1) 0.36 @05 (3)0.8 @04

e 9 & W X=(X, ¥) w1 g% v 9 wem

[0 -.t-qﬂry:‘:b
xy lzx2012y20

Ferlnd)=ix 12520051
y x>L1zp20

1 x2Lyzl
o foar & | siftaw (X,7) 0.6 ) P e 1 -
(1)0.36% (D 05% (3) 0.8% (4) 0.4%

24. Anor valued sandom vari takes value # with probabili
mm’mn;ﬂminm "'xj'dewmmmw” e m n;,fg
tion, then F(1) is equal to ;

(Da 2)1-a (3)a(l—aq) 4)|-a

aﬂimﬂmwh#rﬁw%wﬂocaql}tarﬂmﬂfﬁmi;m s
ﬁm%mﬂx}mﬁﬁmﬁiawﬁﬂﬁumt,?ﬁm):

(Va (2)'1:::' Ma(l-a) ~ @1-¢
St “ T~

(13)

(Ttorn Qver)
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25. Xand ¥ has the joint probability density functionf(x, ) for x>0 and y>0. Then
P(1 <X+ ¥<2)canbe givenby:

W[ &
@ [ [ F(nr)dy s
® § 07 sy e [ [ f(5y) deay
@ [ Py 17 f(5) dx @y

X«I‘Jﬂl’. ?ﬁﬂiﬁmmﬁﬁﬂ_f{x,y};x}ﬂ ﬁy}ﬂlﬁm%ﬂﬁ
P(1<X+Y<2)

) [ 7o) de dy
@ [ b
G) | f'ff (xy) ax dy+ j,'fdf (x,y) dx dy

@ [[7f(zy) dy- [ rxy)asdy

mﬁmmmi‘t

(14) {Continued)
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26. Iff{x]isap.d.ﬁofg'i’m'inhle,i’dzﬁmd_as,
Sf(x)=er, 1<x52
=z, 2€%<3
=0 otherwiss
then the valus of ¢ is :
WSS X1 p.0.f £(x) 7R P
f(x)=cx, 15x52
=¢, 25x%<3

=0 F=ey
W eH A B

(1) 0.4 (2) 4.0 (3)0.2 (4)2.0
27. Shifting of origin does not affect which distribution :

(1) Binomial  (2) Gamma (3) Geometric  (4) Beta

R 8 w1 s o s v & o

(1) Rz (2) (3) sufiige (4) %
28. 1 x~y(m) andy~ y(n,), the variable x/(x + ) is distributed as

(1) 7(m.m,) @) £ (mm,)

(3) B.(n.n,) (4) nomal

TR x=7(n) M y~r(n), B aks +y) Wt

(1) r(msm) D Bdman)..

() B (mm) —QEm=.

- (15)
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29. Ifx~N (0, 1)andy~ ¥/, the distribution of the variate x/,[y follows:

30.

31.

(1) Normal distribution (2) Fisher's t-distribution
(3) Student's t-distribution (4) Gamma distribution
AR x~ N (0, 1) 3 y ~ y2n, W /[y &1 G T

(1) FEFTE HeH (2) fpa t-weA

(3) Student's t-¥T (4) O A

1€ x ~ B, (g, v) and y~y(Au+v), thenp.d.f ofxyis:
g x~ B (4v) 3l y~y(i,;¢+v),ti’l:qy$l pd.f B

(1) 7(44) 2) 7(4.p+v)

(3) A (44) @ Awd)
A variable x with m.g.£. M,(r)=[%+%e‘] is distributed with mean and variance

&

-
=]

i

variance = -
I
9
variance =3
3
1
9

!
3
2 s
(4) mean =7, vanance =

(16) (Cﬂﬂﬂnned}



1791221117 (1)

st x Pt m.g £ M,{:)e[;;-;-e'] % W T T

2 2
(1) W =2, s
@ =L, wrw=2
3’ 9
1 2
(3) mﬁ='§'. m=-3—
) w:%, m-%
32. Ifx~ b(n, p), the distribution of y = (n —x) ia :

Wﬁxd(n,p}ﬁy#n—x)ﬁliﬁﬂ:

(1) b(n, 1) (2) b(n, x) (3) b(n, p) @) b(n, g)

33. M X~N(pg)and gw[g;,a:)_,thmgiagl;gfl’isdmdbmu.-
W X~ N{m.ot) 3k Y~ N(1,07) Rt s X+ ¥Rt g

'\_F“h“-

(1) Mu+n, o ) @y (s, o)

M) T @ ntrn
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34. Ifx is a binomial variate with parameters n = 23, and p = 0.2. The probability

5.

36.

Plx<p =20} is:
ﬂﬁxﬁﬁ“ﬁﬂ%ﬁﬂ%mn=2§ﬂp=ﬂ.2ﬁ | wifdreran P(I{p;-—lﬂ‘x]
Lt

(1) (0.2)% (2) & (3) (0.8)* (4) (0.5)*

1f X ia a Poisson variate with P(X = N=PX= 2), the mean of the Poisson

variate is :
qa,t’qumﬁmtamﬂ,rﬂpﬁx-z},ﬁm@im%ﬁmzﬂmﬁm:

(1) 2 (2) 4 (3) 6 (4)38

X -X

Ifx andx, bea random sample from a population N(1, 1), the variate ~ 7
is distributed as :

e —~% ; ém'
aﬁxldkxlmﬁﬁil,i]ﬁmnﬁ%ﬁﬂ?!ﬂmﬁzﬁ-—ﬂm :

Q) Moy @ N (3) N(1L.o) (@) N (0,1)

(18) (Continued)
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Let ¥ ts sample mean of random samples of size # drawn from N(4,9). For
what value of &, ¥ > k I3 critical region of size =005 mtesthypothms
Hy: =y, aginst H, : = p, ywhete 4 > 1, 7

wm?t:.- , @i N(p,9 )ﬁﬁwﬁrn nﬂqﬁmuﬁ\qﬁmhkﬂ:hm

%mxHMH &G Hipmp, W g, % R
@ =005 mmmaﬁi{ ?

1.96 1.645

+
D&% L e

3.29 4.935
(3) H:"'"T (4) 1"0"'7;‘
The manager of a shup says ﬂ'.tal the number of customers visiting on the week-
days followed a Biponis Ustritngtion. Whil nnenflhefuﬂowingtmhmquﬁ
can be used to test the truthfulness of stferr it ! el of
_si,gniﬁm?
(1) Test of significance of mcan
(2) Chi square test as goodness of fit
(3) Chi square test proportion
(4} m-&ﬂiﬁm'mw-mm ==

%Tﬁqhmmﬁﬁﬂaﬂq
¥ e RN g E A

(1) e 5 R zrdeeen whhan

() e ot oz oY 6 T~
(3) FTRT W vy W oy e L

(4) 3 Ve F R HY Grhm—— T—

(19)
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39, If degree of freedom of Student's # distribution is large then it will be which of

40,

41,

the following distributions 7

(1) Standard Normal Distribution  (2) Normal Distribution

(3) Chi square distribution (4) F distribution

WERF AT @A TR AF R A wAAd IR @ aeam -
(1) WM& QAR HeR (2) v w5

(3) % Tl ¥ (4) Faied

To test whether Normal distribution with unknown parameters fits good to an
observed (teyuency distribution with nine classes, a frequency chi square test
is used, Expected frequency for each clasi is found at least 7. What will be the
degres of ftesdom of the chi square teat ? ' :

Ol Rk 7 SR 62 R S R e S 42 e v e & | |
o et Y wenfiv e & & w4 78 | o @i w1 e B @A $H

o ?
(19 )8 (3)6 47

Let random variable X is distributed as U (0, 8) and.x is a single sample from it.
iC :x70.3and C,: 1L.O=<5< 1.5 arg considered as two critical regions 1o test

the hypothesis A, : @ = 1 against H, + @ = 2 then which of the following state-
ment is true 7

(1) Level of significance of C, is more than C,

(2) Probability of type two ecror of C, is more than C,

(3) C, has smaller power of test than C,

{4} Bn-tb have same prvver Y )

(20) (Continued)
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o B wmnxu{o,a)ﬁmﬁufmtxmwm:ﬁﬁhwﬁ
e A, 0~ | S v A 9=2% WMy C, x> 058k C,: 10<r<15
Wit i R o ft Rer d d M w s al d 7

(1) C,w v R C, & aifine 4

(2) €, R Rl w35 3% o8 sufter C, & vy
(3) C, % ge & C, % e wham 4

(4) 2l % v ) e s

Aqumﬂmwmm'mhd&wibn-uhh,wwﬂhﬁm
from a section of population. 19 out of 100 gave the answer of question as True,
Wﬁﬂhﬁevﬂwnfcmfmgmﬁmmmwhw&.m=
P(FALSE)is1:4?

i % ¥ Wi § 100607 2w e & R 397 0 B True o1 False

e 1 1009 19% s w1 e Trme Ty | P(TRUE) : P(FALSE),
1:4tmmmﬂﬁﬂiﬂ§rmmiﬁn?
0% @ @3 @3
= e e -
—_
(21)
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43. Letx,, x,, ..., x,, are random samples drawn from X ~ N{16) such that

5% 5260 and 1 S0y (5 =)' =5. Which of thefollowing intervals willbe
a 95% confidence interval for ¢ 7

TR X N(016) B 2, T o, W00 S E ] T 5, =60 3K
ﬁZi‘,(x,-f}‘ =5, fm Simodl § ¥ B W IR 4 ¥ R 95% freae
AT B 7

(1) (~1.00, 4.00) (2) (1.69, 4.31) (3) (044, 436)  (4) (0.83, 397)

44. Paired rtest is applied to know the significant difference between two popu_lgf
tion means when both the populations :

(1) Areindependent

(2) Arerelated/matched

(3) Are independent with equal variance
() Ase independen with unequal varisnce

am&a#mﬁ%mmmwamgﬂrm#%}mmz
'ﬁﬁiﬁlm:

(=R
(2) Wil /e T B
(3) ¥R T WA wE B

(4)mﬁmﬂ&aﬁﬁﬂiﬁ |
(22) (Continued)
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In which of the following F test is not applied ?

(1) Test of equality of means of several normal populations,
(2) Test of equality of variances of two siormal populations.
(3) Test of equality of two impendent normal populations.
(4) Test equality of two population proportions,
Frtifien i & fw F wlisor w1 s ol o 7

(1) 37t s nefos s et w0 B4 5 vl |
(2) 9 e, iRt 36 werot 3w B %1 e |
(3) 3 e w35 et 35 e @ 5 g |
(4) 2wl 3 srramit & wowe B3 wr tegor ¢

In a large sample test ﬂqr tion mean & for the hypothesis
maiﬁieﬁmiig?iﬁimﬁm il e
{1) Smaller (2) Larger

(3) Unchanged (4) Half of older

mﬁmpﬂr w H‘ a
mwﬁmmyqﬁwm% mﬁiﬂam aahbal o

(1) o 8§ - @ wwm
() et (410 3 37 e
(2)

e ——

e — R T

(Turn Over)
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47. A test T which is at least as powerful as any other test of the same size, is

4.

called :

(1) best test

(2) most powerful test

(3) uniformly most powerfui test

(4) None of the above.

o i Tﬁn%wmzﬁmﬁtﬁwﬁimmﬂﬁqmmt,

e & - .

(1) vt witem

(2) W: wiftwael viam

(3) TS wia: TRt whEw

(4) 3ol § A B 7 )

A test T for which maximum risk under H, and H, is not more than the

ot risk of any other test 7* under H end H, iscalled :
(1) anunbiased test

(2) uniformby most powerful test

(3) an admissible test

(4) minimax test,

(24)

(Continted)
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Hywn H, % sivi o v TR forg st e, H, e 2, % st
R vl 7% i es & sftes vt or d, wyemm R

(1) 7 Frermg gl
(2) T v wiitenTeR i

(3) w3 ey

(4) Wy~ Tl
. The ratio of the ikclihood functions under , and under e sasise pacametric
xgam is called :
(l‘j probability ratio

(2) séﬁucnﬁal probability ratio -

(3) liketitood ratio

-,

(4) Noneof thegbove. -

H.% srerta wan gepl sree o & MWWWWMQ ;
(1) Wi s | |

(2) W v s o
Q) v s, | o
R LT T
- —— . J-""‘\. _
(25)
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50. Neyman-Pearson lemma provides :

31

Sk

(1) an unbiased test (2) a most powerful test
(3) an admissible test (4) minimax test

o1 Ry v Seeren AL 2

(1) ws fawag wliEm (2) T ;A Sie
(3) @ g e (4) Y- T

Atﬁtbasednnatcslstaﬁsﬁnisciassiﬁed as

(1) randomised test (2) non-randomised test
(3) sequential test (4) Bayes test

= whger yfEdR T M@wmﬂﬂﬁm&ﬁﬁ::

(1) TR T (2) - T
T (4) ¥ ot

In one-way classified data there are 7 classes with 5 observation cach. The

¢ freedom associated with error Sum of squares will be . |
iﬁfﬁ;ﬂ R W 7 doft ot v Soft 8§ smia%%ﬁaﬁaﬁﬁﬂmﬁmﬁ

o -

(1)25 (2)3 (3)28 (4) 34
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53. In the analysis of one-way classified data, the degrecs of fivedom of test
statistic for testing equality of #(72) treatment means and total observations
are n, is given by ; ;

e it % ferwtheon &, vl wftretor St (72) Dt ey Y ot o
mmmwahﬁﬂm nk, ﬁ:m'ﬁ%MQ: -

D E=1)(n-1) (2) k—1),(n—+ k)

@) k(n-1) @kn-8

4. Which melthnd of estimation is used for estimating the parameters of the
linear mode! given fm'ppp-wayciassiﬁed data ?

(1) Method of moments (2) Maximum likelihood

(3} Minimum Chi square ~, (4) Leastsquare -

THH ahﬁi:%%ﬁ%@ﬁ‘hwﬁw%mﬁﬁmimnﬁm
.ﬁﬁzﬁamﬁi? -

(1) et iy C @shmmie
' (S]WW S R LA &f#)m e

5S. Whichofths followingisad.x 4 LatinSquare? -
A 18 4 £ AT i 7

(DABCD HABLD
BCDA DABC
CDAB CDAB
DACB BDCA

(3)ABCD TR e
BCDA _ BCDA
CABD" ™" 777 gty
DABC DABC

(27) -

(n'ﬂ! Gper_}



17P/221/17 1)

56.

37,

What are the degrees of freedom for the test statistic used for testing the
equality of treatment means in a randomized block design with 6 treatments and
24 plots ?

6 Fren=t 24 Il % ARy wvs e d el At i wual §
T&mﬁmﬁmuﬁaﬁﬁmﬁﬂqﬂﬁwt ?

OREALI RO RER) (3) {5, 18} (4) {6, 15}
For a standard 7 x n latin square, how many different latin square can be

obtained with the same standard ?
& 1 x n%ﬁﬁ?ﬁ%ﬁﬁiﬁﬁ!ﬂﬁ!ﬁ-ﬁmﬁﬁmnﬁﬁ 7

(1) nt(n -2 (2) (n— 1) {(n=2)

(3) n'(n - 1! | (4) al(n+ 1)}

In 2 2? factorial experiment interaction effect between two factors A and B1is

?i}i?g;qmﬂ'mﬁﬁmaqm 5% e sl s e T S
7

(1) L{(ah)+ (@) -(ah)~{a)
@) S{(ao)~ (o) ~(ate) + (abo)]
() SH(ad)- () +(abo)-(ab)

() L{(ab)-(ah) () (o)
(28) (Continved)
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effect 4B is given by ; . = o
2 SR, 1 R e R v & | o s B8

wﬁmtﬁﬁmmnﬂuhﬁmm&ﬁ:
(D2,2(r~1) @) L3(r-1)
' {31_2,4{r—IJ @) 1,(r+1)

D In?z’ factorial experiment which of the foﬂowmggwesth;: mu:‘neﬁigcmffactﬂr
C F Tt .n‘*.'..l-.n..,.i.-.: t o S ’ .‘
T 2 gt i e 3 3 o e Cor oy s 7
1 .
{1) I{"! ~4,)(4 +8)(c,+¢,)
(2) :(‘?i "‘au)(b:"&o)("a -G)

®) Hara)b+b)e o)

(4) 'i'{al = qﬂ){bl +bu)(cl "'-"ni)

{1;‘,?{:«—-.1} @ e-1 ~. 8-y O}/

() -~



17P/221/117 (1)

62. 1f the stratum sizes are in ratio 1:2:3 and the stratum mean squares are in ratio
3%;!1;:: lsampg drawn guglﬂm straturn will be in the ratio :
2:3 % I A T 234 F TP AR R
e T e s g AW

(1) 3:4:6 (2) 1:2:4 (3) 3:4:12 (4) 1:3:6

63. The ratio estimator for population mean is more efficient than the sample mean
for p=0.8 then what will be the value of C/C, Where p,C and C denote
correlation coefficient between y and x, coefficient of variation of xyand the
coefficient of variation of y respectively :

o TR v SR AT SReE AT ¥ p =08 R RRIE R
c‘;‘crmmwﬂrn ?‘&Tg'f p,{éjgmcy,yﬂkx#'ﬂiﬁ@ﬁw. x % faeer
¥

C, .
1) c""*ﬁ;ﬂ {2)1::%*::1.5
C, - 5 5
(3) ESLﬁ (4) U.‘ES-E‘-'S‘I.

64. Froma popﬁlatinn of size 50, a sample of size 15 is selected then the ratio of

qasum:h:m&ﬁ lﬁaIWEEIgﬁlﬂﬁngWﬁ p(7) % s SRSWR
mmﬁmmﬁﬂ'ﬁﬁ)mmwon(wmﬁmmmﬁ&}ﬁ

a1s - O R (4)23

(30) | (Continted)
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65. The problem which is not related to stratified random sampling is :

66.

(1) Sempling frame-of the population

(2) Size of strata

(3) Fixing criteria of stratification

(4) No. of strata

e S s s AR s & St a0 g

(1) wwfd = st b

(2) Wt 1 TR |

(3)mmtmmm'm

(4) s ot G

Under the optimm allocatidh firstrusified randon samphing, the sample size to
be drawn from the /b stratum will follow the rule. Where », N, 82 and ¢

denote the simple size, Stiatith size; stratum mean square-and cost. per unit of
#h stratum,

wafter S sRveee ¥ xpernm dail & PR b TR P T aen et
P sgren 8ken 1 <tet N, S730R €51 dth e 3 Wiy HIPT, T AR,

(yn <k D ———ll ML

(3) 1 « NSG o s ISHG
""'"//;31} —

(Qrn Over)
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07.

68,

For the fixed sample size n, the optimum allocation is given by :

n ¥R % fATR wfed % for argeerm deam fRm wmr f

Where n, W, C,and 52 denote the sampie size, population proportion, cost per
unit and population mean square for ith stratum and » and L denote the total

sample size and no. of strata.
T8 n, W, C 3l 52, ith Tt % sl s7rew, wfl sigema, St v o ol i
TG T ) TR AT & 30 2 98 L o et T it eerdt g it P

R

l L
(1) n=nW.CIYWC @) n=n WS /Y. WS,
[ i=1
nW,S,/JC, w,5,\/C
o) e gl ) =00
P AAN Y wS.C,

F=i

Ifall the strata means are equal then the unbiased estimate of V' (5) SRSWOR
will be :

TR B il % A T G A ¥ () SRSWOR i i oMihers B :
Where #, N and #, denote the sample size, population size and population
proportion of ith stratum and 5% and s denote the sample mean Square for
sample of size » and sample of size n, drawn from jth stratum.

wut n, N3 ﬁ‘:‘ﬂﬁﬂﬂ 3FR, HAfY
3 s 52 o 2 SR e o (AR ) e SRR SRR i, (i TR et

?) % s s R |

" 1 134
i LR A &
(1)_!’(}') SRSWOR (n N)Zw,,

=l

(2) P(7) SRSWOR =(l_ﬂ J

r

I L
') I?(ﬂ SRSWOR =('1'"“E]EH:5.

it 5]

L

7(7) SRSWOR =) W
@ V0) 2¥s

(32) (Continued)
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69. Ifina population of size 100, theratio of ¥ () SRSWOR and ¥(§) SRSWRis
8/9, then the sample size will be
R 100 % smw % ot F ¥(7) SRSWOR st V(¥) SRSWR W1 3am 8/9
B wived smwrcem |
(1) 10 (2) 15 (3) 12 (4)27

70. Whileusingsn‘&tiﬁudmudumsampﬁng:
(1) Sample sizeshould be knowm, YRRl

(2) Stratum size should bo known,

(3) Sampling frame end population size for cach sumtwm should twlllmn

{4) Population mean square for each stratum should be known,

VT Fewsy e -n-n-wgi-m.“__',._____
mqﬁmmtﬁmﬁ:
R I R B SR B IO = e _
(1) widere v wr g i |
(2) W Swer WA e

- .Ahnr_-w-lrr-.h;_uw-»- . PR 1 T T ey

()08 = SR SR g o i sy g i
@sws o i by

(1) e (ﬂm{}pcr}
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71. The ratio estimator for ¥ will be unbiased (up to terms of order n')if:
¥ &1 e aarers st g (! urita 9 ) 4l ;
Where ¥, p, C, and Cr denote population mean correlation coefficient
between y and x, coefficient of variation of x and coefficient of y respectively,
ol 7, o, C 3K C, Fr: sty rem, y aft % e | e T, x % e

i sy e T ) P R
c c
e | (2) C,
C
(3 =-5‘-_ (&) p*<CC,

72, Ifsexratio ukaihEconﬁtal1.{}Saﬂmnﬁm(}rnsskepmducticnllateiﬁm)
can be calculated using Total Fertility Rate (TFR) by the formula :
s o s v B e 1.0 R FR & 2 e W X (GRR) 1 et et
_,am}mwmgﬁmgwmﬁﬂﬁmmmt |
(1) GRR=1.00 TFR/L.03 (2) GRR = 1.00/1.05 TFR '

(3) GRR = 1.00 TFR/2.05 (4) GRR = 1.00/2:05 TFR

73. Inlife table, which one is not corvect ?

ﬁﬂ%ﬁiﬂﬁﬁsﬁmﬁﬁﬁﬁﬁ?mﬂﬁ?ﬁﬁ ?
21!!, ; . Zn(.m‘
(1) g;-':m-" (2) " __l_?'l‘ﬂ(,m,]
. = .
(3) € 5}: (L =L+

(34) (Continued)
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74. Which source of data is used for the study of populstion ?
(D Population Census
(#) Registration of vital events
'(itf) Sample Surveys
Codes : -
(0, 69, @),
2)Only()
(3) Only (1) and i)
(4) Gnly (m;mtnf; ) _.
. R & 375 % R P a5 i o oon o e 7
() wwEwRT W
U S erl s miwy

i

E:' S

M@, G, @

(2) ¥ww () N

Oy . . .

(4) o atingis. ' —
w7 (35 \“x
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75.

76.

A relationship between curate expectation of life (e,) and expectation of hife
at birth (e?) is :
iz S e (e,) St T Sl s () § Heu X
1 _o_ L
(e=el+ 7 Qe =¢e—7

(3)e=e'-1 @)e =el+]1

Which of the following population growth model is not matched correctly ?
freaforan e Wy Hiest 3 @ @ gife T E 7

(1) Arithmetic: B =5 (1+11)

(2) Exponential: F, = Fe"

(3) Logisti: & = o

(4) Compertz: P, = BC'

Which chart is used for keeping a control on the 'central tendency' ?
(1) X-bar chart (2) R-chart

(3) P-chart : {#) C-chart

mﬂﬂﬁ’mﬁﬁmt@ﬁmﬁmaﬂﬁmﬁmm%?

(1) XA 9 (2) R¥E

(3} P'Hé {47 o =rd

(36) (Continued)
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78. Which of the following is fraction defective chart ?

79.

(1) X-bar chart - (2) P-chiart
(3) R-chart (4) C-chart
faiidamamampiait?

(1) X it (2) P

(3) Rwié | 4) Ca@

Which control chart pattern is used for assignable causes ?.

(1) Trend pattern - (2) Shift pattern

(3) Extreme variation pattern (4) Allof the above.

4 A Fror wié e Praes el a3 R S P o -2
(1) v ¥t (z);amﬂa#

(3) it Rrwen 4 (4) 3R ot
?whufmwh@ufdefmﬂmmﬂwlmmmgeumﬂem
(1) OC curve | (2) ASNanve

(3) Power of curve (4) Allof the above,

st s om 5 e Rl e v o AR s

(1) oCwm " (2)ASNws

() ol - v -yt mand,

\\ E fﬂtmt}uer}

‘h".
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81.

82.

The maximum limit of percentage defectives in a finally accepted product is
called :

(1) Acceptance Quality Limit(AQL)

(2) m'crﬁge Outgoing Quality Limit (AOQL)

(3) Lot Tolerance Percentage Defective (LTPD)

(4) All ofthe above.

e .ﬁl@mﬁﬁﬁmaﬁﬁaﬁmzﬂmﬁwm% :
(1) weigpf e Hm (AQL)

(2) *lrga anzedigm TR €9 (AOQL)

(3) iz atpen v A (LTPD)

(4) IH a4t |

The moving average in a time series are free from the influences of:
(1) Seasonal and Cyclic variations

(2) Trend and Kandom vaiations

(3) Trend and Cyclic variations

(4) Seasonal and Trregular variaiions

et Aot 3 e e P R e A R

(3‘3} - (Continued)
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83. The general decline in sales of black and white TV is attached to the component
of the time series ;

(1) Trend - " {2) Seasonal variation
(3) Cyclic variation ) e
R vd vam A, % e i wow 2w S frg wmer b w5 R B d
(OF, . S (2) #Fe ahedw

(3) =i vl (4) shmfi whads

84. Method of least sqﬁgr;{ém«wm;; only if the trend is
(1) linear | I (2) pémhol_ii: R
(3) both (1) and (2) %) neither (1) aF (2)° = -
IR v Y o faftr v e R, AR Tl
(D w ﬂ)wﬁ
(3) (l]a\t(z}iri | (4}?(1}'—11?!{2)

85. Let X follows Poisson dm‘l:rlbuuﬂu then (%-5?), where 1 is sample mean of
2 random smple — nand 5~ -Z(r ~X)', is unbiased estimator of
m?ﬁ&qﬁwﬁmﬂnﬁmmwﬂﬂrﬁ-f}mm X% naew
? R nﬂﬁmﬁﬂwmmﬁ 5= —i:[m -X). % fimy

ST F o
(1o @ -2 I~ gy,
. H

D (Turn Over)
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86. Consider the following statements :

87.

(/) If Tis an unbiased estimator of 0, then T° is an t{nhiased ?stimamr u{ 8
(if) If T is consistent estimator of §, then 7? is consistent estimator of &
Which one is correct ?

(1) ()) only (2) (i) only
(3) Both () and (i) {4) Neither (i) nor (i)
frfufgn aam o e =

()R T 0% Frowg s &, & 1 60 % w Feag 2
()R T 0 % Fx sgwms ¥ & 77 071 FOR e ¢ |

st ?

(l)%ﬁﬁ 0] (2) ¥ (i)
(3) (1) ¥ (i) 2R ()7 () @
Which of the following statement is/are correct 7

() Sample mean is always consistent estimator of population mean.

#f) Consistent estimators are not unique. _ ‘ y
Em} 1f T is consistent estimator of @ then e T is consistent estimator for ¢ .

(1) () and (if) only (2) (i) and (i) only

(3) (¢ and () only @) (), (D and (i)
mmngzﬁgﬂm%immﬁtm I
};Ejﬁmﬁﬁﬁgﬁi%ﬁ T et H for folm g 8 |
(1) ¥ (i) 3 (i) (2) ¥aw (i) 3R (ii)

(3) ¥ () 3 (i) @) (), (i7) 3 (i)

(40) (Continued)
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88, Ifx, Xy 13 X, be random sample from b(1, 8), then which of the following are
correct

) T-gﬂ'iﬂmmplmforﬂ

(in) r-gn is sufficient for §
(1) () only (2) (i) only
(3) Both (1) and (i) (4) Neitber () nar (i)

TR %, %y .., 3, B AR T (1, RS e B w
(0 7= 0% ie

) T=Yxr 0% R el &

O¥&a@m (2) ¥ower (1)
G, N OLIOE: {0

% Whats the sufficient estimator of @ forthe distribution

A &

*o

ﬁrlxﬂl Wﬂwﬁ-“x"‘"""” L F) } _\\ |

(41)
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90.

o % wain e R & 9% e & fo
f{ﬂﬁ"]:%; —%{x{g—
(1} xm (2) Xy

- 1
(3) x,,, 3 x,, T & { @i Ok

Letx,x, and x, are random sample of size 3 froma populatinnwith mean g and
variance @ T}, Ty T and T, are four estimators to estimate gwhere

5 =ﬂi?—+il 4 =xl_'|.'__z?'ﬁ
x, = 2%; + X
2}=x1+x1*x3 3‘]=————-3‘"‘
Which one is the best estimator ?
(D7, @7, M7, 47,

< s T WA 36 T 113 e o2 & o 3 % A T
x, X, @ %, &, (% SR T F fa T, T, T, @R I,¥ AR & T

XExth X420 +35
1=—""'3|“'_'w 1= _‘ﬁ_""—
#:c,—Zx:Hg
T=X+t5h—% L
2 @ T mm% ?
(7 @rn EIH (4) T,

(42) (Continued)
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91, Ifrandomi variablex follows umiform distribution with parameter © then

) Tﬂ-%kguﬁdeﬂtfwﬂ {if) T=x, is complete for 8

(i) T=x, isunbiascd for8 (i) T=x,,isMVUE for®
Which one is correct ?

{.n (Dand (i only 2) {ﬂ"} and (¢if) only

(3) (it znd () only @ Dmi@oly

u&m{%mm-x,meﬁ:mmﬁﬁmwwtﬁ-

0 T=x, 6% Rt {ff} T=I 9%&'{‘1"”

"F-_--\nl

(i) T=x;, 0% farg Proog 2 [w) T=x, E*]%I‘IZMVUEQ

TR TR 7 |

(@@ (2) ¥ (i) ok (i)

(3) % (i) AR (1) (@) 3= (i) st ()
/’f_ i

(ﬂ‘m Over].
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91, 1f(0)is amount of information on supplied by the sample then which of the
following expressions is/are correct 7

0 f{ﬂ]=£[%lﬂ§L(“ﬂ)T

(1) 1(8) = —E[a—i-?—log L(I;B]}

(iii) I;LB} =n E[%Iug F (x:ﬂ}]:

() He}:--::E[%log E [1?9]]

%m the symbols used have their usual meaning.
(1) (N oaly

(2) (#1), (iif) and (iv) only

(3) (), (i) and (ii]) only

(4) (9, (#y and (i) only

(44) (Continued)
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. ﬁ-ﬂﬁ)mm T B 0 G 6 Ofir f, ﬂmmmw
® 1(6)= E[%In_g-f.. (x;a):r -
(ih) 1(8)= -E[-gfhgﬂ(x;'ﬂ)]
(dif) f[o)-»'s[%hﬁ(x;e}r

@)= L vertea)]

el yedvrer MMHMEM'W’H&! I
()%= ()
Q@) ¥ (i), (i) o (1)
(3) e (1), (1) ok G
(4) %= (), (fl’!ﬁﬂ(iv} |
| (45)

- (Tiern Over)
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93. C-Rinequality with regard to the variance of an estimator provides |
(1) Upper bound on the variance
(2) Lower bound on the variance
(3) Asymptotic variance of an estimator
(4) Lower and upper bound both on the variance
o A ¥ e & ga C.R S sed & f
(1) freor w Sl A
(2) oo e e ®FT
(3) T FHE 5 s fam
(4) foram W Fr A s grl 1 H

94, Maximum likelihood estimator of parameter O of a population having the
density function

-f(x;a]=%(a—:-:) 0<x<a

for a unit sample size s :
@m#ﬁﬁﬂauﬁaﬁﬁmﬁmmmmﬁm
-f(x;a)=§'—z(a-x) 0<x<a
ﬁ@zq@mﬁaﬁﬂ%
x I
(N x (2) 2% (3} 3 (4) %

(Continued)
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98,
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Let A and V respectively denote the forward difference operator and backward
difference operator. Then operator (1+4)(1- V) is equivalent to :

I A AWV T S SR A 79 I A= g & @) s
{1+4)(1-v) f= ¥ 3 s womger 4 7

()1 @0 . (3)2  @a
Ifinterval of differencing is 1, the value of A(x*+5), where A is a forward

difference operator, is :
:}n;nmmm LR A(F +5) %15, wafs A s o v 3,

S ()2 +5 () 2x (G)2x+1 . (@) x+1]

In calculus of finite differences, the relation between the backward difference

operator V and the shifting operator £ is ;

gﬁamﬁﬁﬂm FAT S Y T ST ST B e ey
8. :

EF-1 '

(1) V=—ro | () v=£-1
1-E . Sl
(3) v=_E_ 4) V=1-£

The relation between shifting ﬁpmtnr E of finite difference calculus md

iferential operator D of differential calculus, when  is the intervat of
differencing, is ; - o

| WWW%_WWWEWWW*WWD%

e e e R e s 1 5 S

(1) E=rD - (2) E=log(hb) !
(3) E=f ' (4) E=et—-.
o Tep—— | e

e
-1

el 7 ) (Turn Over)
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99, If A and E are forward difference operator and shifting operator, respectively,

Al '
ﬂtenthevﬂuenf-g—xz,whminteﬂalufdiﬁ‘amningisl,willbe:

1
TR A mﬁm:mﬁmmmmﬁmﬂﬁf %x‘ 1 UH

T M FERE oAt w o 1R

| (1)13- (2) 38 (3) 6x (4) 3x
100, The following are ihrec siatements abau‘t divided difference in finite difference
- caleulus - et
(a) Divided differences are symmetric fnctions of their arguments.
(b) nth divided difference of a polynomial of degree » are constant.
(¢) Eai]\;ided difference cannot be obtained when observations are at _equal inter-

Which of the above atatement- is true ?
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101, Which of the following formula is one of methods for inverse interpolation ?

(1) Newton's forward formula - (2) Stirling formula

(3) Lagranges formula (4) Bessel's formula
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102. Under the notion of differences of zei6 in firite differences, the value of
AP i
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103, The appropriate interpolation Mmm-ﬁomaﬁm corres-

ponding to an argurent which lie at the middle of given setnfﬂhmiatms, fs. .

(1) Lagrange's formula (2) Stizling’s formula

Y .

(3) Newton'sforward formuls ~ (4) Newton's backward fors
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104. If the interval of differencing is unity, the function, whose first difference is

&, isgiven by :
ﬂﬁqﬁ%ﬁﬂﬂmﬁﬁﬁﬂmw.MMWﬂﬂﬁm:
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105. What will be the order of given difference equation
(=) ( Fx+1) =2(f (2))(S(x+ z))+4(f{x+3])’ = P(x)

Pt SRR H B |
(£ (£ (x+) -2(F (S (x4 2)) +4(S (x+3)) =P(x)
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106. Which of the following is the solution of the difference equation
Ve =5¥,0 167, =36
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Yer = 3Veu t 6y, = 36

(1) C+CF+18 (2) C2+CF+36

(3)C 5+ Cot36 4 Cy+CH+18

(50) {Continued)
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107. For the numerical solution of ordinary differential equations, modified Euler's
method is equivalent to ;

(1) First order Runge-Kutta methiod
(2) Second order Runge-Kutta method
(3) Fourth erder Rungs-Kutta method
(4) Picards method
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108.1f 2 random variable X has mean 3 d standard deviation 5, then the +
. _qfumwsz.f-sis:m@ ,m_' eviation 5, then the varianee
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110. If Var (X + ¥) = Var (X - ¥), then the correlation coefficient between X and ¥

is equal to :
TR Var (X + )= Var (X— 1), & X 3R ¥ dfre wEEET o & A R

(1)1 ) 1/2 @) -1 @0

111. How many basic solutions will be obtained for the following system of
equations 7
X+ + %= 4

2xl+xz+513=5
413 Ford weter el & R e R B 7

xl+2x1+.r}==4

2%, + %, +5%, =3
(1 (2)2 (3)3 (4)4

112. A LPP has an unbounded solution if there is some non-basis vector Z; for

which? |
o s SR w w unbounded ¥ ¥ AR non-basis % &, #
fow .

(1) (cj,-zj)-cﬁ and (T1) y, 20V
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113. Ifthe primal has unbound solution then dual problem has :
(1) A solution
(2) No solution
(3) Bounded solution
(4) No solution ar an unbounded solution
SR Srufies W 1 % unbounded g & 3 B 1 et gy
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114. How many basic solutions possible for 5 sy o M equation containing
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116. The total nurber of permutations of assigning s persons to n jobs is :
nwIea nmﬁﬁuﬁ'ﬁaﬂ%mﬁ@iwmt

(1 p, (2} ", @G- @k

£17. Under which condition assignment problem is a particular case of transporta-

tion problem 7
ﬁaqﬁf&:ﬁ:ﬁﬁﬁﬁmmmmmﬁﬁﬁamﬂmﬁ 7

(1) m> n and (7°) a,=1=1?_, Y i&j

(2) m<n and (T) 4, =1=5, ¥ i&j

(3) m=n and (7} o, =1=b, V i&Jj

(@) m<n and(ﬂﬂll} a=1=b ¥V i&]j
118. In a Simplex table with usual notations where &, =¢,~% the outgoing vestot
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119. Using Graphical method solve
Max £ = 30,000 +10,000z,
B.toe.
n+x 26
2x +x, 58
and % 20,x20
Thamhlﬁmhﬂlbmﬁﬁpoht:
mes ... ... . 2) 0, 6)
(32,9 (4) No solution
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120. Which measure shows that the population will reach at the replacement level

fertility 7
(1) NRR> 1 (2) NRR< 1
(3} NRR—1=0 (4) None of these.

mﬁmwa%mﬁaﬂﬂmﬁﬁmuﬂﬁq&aﬁa@zﬁi?

(1) NRR>] (2) NRR <1

(3)NRR-1=0 (4) 7 & o T |

(56) B-1,100
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